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L |MLBEIE (BAFELEH) (A%] —= ZUELL —
a2 (MLBEIEMAFEEHN) a] —= ZBELL —
f#3 |MLUBEIR(RRESEHM) L] —= “rXat K¥ER 972,000M
s |MLBEIE(KNSHESEHM) RE] —= kBt KBER 837,000
i#5 |MUBIEIE A EEEHR) (H2] —= BESEYREERE #Hisu 1,024,650
a6 (FLBEIEMRURFESEHH) (LE] —= ZHEGL —
&7 |MLBEIE FRUBEESEHEN) EE] —= ZEEGL —
s |MMLBEIERRESEH) [A%] —= HA=t BlE 381,780M
HEY |MLREIE\EBEEEHA) (] —= ESEYKREEE KAzt 584,496
10 (MMLBIEIHE (REFESEHA) [EE] —= BAEH ATARR 564,840




&N (MMLBIETIE(RAFEEH) (] —= Bt RM@ERIEIEAR 788,400
12 (MMLBIEIE (BRESEHA) E%] —= HART KIBHE 1,576,800
13 |MLBIEIE CREFEEHA) ] —= BRXat KISHE 1,512,000
14 (FMMLBUEIE (RIESEHA) E%] —= Bt AlE 180,360
15 |MMLUBIEIE(MRAEEEHA) [A%] —= “rA Al 1,765,800
16 |FMMLBIEITE RBFEEHA) ] —= BXatt KISHEE 1,036,800
1T (MMLBIEIE (EESSEHH) E4] —= ZUELL —

18 |MLBIEIE (BEEFEEHA) ] —= BRAEH AT1RKR 1,242,000
19 (MMLBUEIE (MRESEHA) EE] —= B ATARR 872,640
E20 (FMMLBIEIR(REFEEEHA) LEE] —= “mR=t BIE 535,680
21 (MLBUEIE (S EESEHA) ER] —= BAEH ATARR 743,040
22 |MLUBIEIE(BESEEEHA) (A%] —= ESEYHRAEE st 1,845,342
H#23 (MMLBUETIE NENESEHER) (R —= AR HEAXE 975,823
E24 (MLUBEKERFER (BREEEHT) [HE] —= A=t BReakiE TER 113,400
WEE25 |LERERERS WEES -ILE1EE) [[Tx] —= At EREMERESHER 594,000




